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1. \Nhi'ch {of the following dances is a solo

dance ?

(A) n Ottan Thullal

(B) Kuchipudi

(C) Yakshagana

(D) -Odissi -~ R

frafafea T @A AT A THA A ?

MWW

(B) Hagsl
(C) TEMH
(D) SifsHT

2. name the birthplace of Mahavir
Swami.
(A) Lumbini (B) Gaya
(C) vaishali (D) Kannauj
q@aﬁtﬁrﬁ%am@manmam:.
(a) gfer (B) TR

) Frmedt (D) A

3. Whoisthesupreme commander of the

armed forces of India ?
(A) The Chief of the Army staff

(B) The pDefence Minister
(c) The prime Minister

(D} The president -
A & AITH it w1 g ST cacll
3 5 '
o -
5, o TATTHE
(8) & Al
(©) eI A
(o) T
4 Wwhat i the ratio petween the width
’ and the length of our Nationfal Friag ?
R T I ERL
=5l ygqraam% ?
1:4
a) 17 (8) :
((c) 2:5 Ap) 233
A

5-

Which one of the following is a land-
locked State ?
(A) Gujarat
(B) Odisha
(C}) West Bengal
(D) Jharkhand
F q P GF Y -IEG
TR 7
(A) TEua () e
(€) ulmEE () TS

Which  certification indicates - a
guarantee of quality for food products
like ghee, honey, etc. ?

(A) Il (B} Agmark-

(C): 'BIS (D) Al of these
g 3fg i IUETT £ T F I
() ondwEa (B) W

(© e DY EEEIRl

What is the shape of theearth ?
(A) spherical +

(8) Elliptical

(C) Oblate spheroid-

(D) Conical ]

qeaf) <61 ITFA Feft 27

(a) A @) FUSTAN
() wremTard (D) - T

ich of the folibwl_ng_garnes is

with wh
the Davis CUP associated ? o
(A) volleyball (8) Badmmton
(c) Cricket (D) Tennis
2ferm & <l e a 3.fFa
gEdg? o
(A) aicfaia (B) A
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AN g

.30, the hour hand and the minute

9 Who invented Helicopter ? 13. At 3:
', {A) Copernicus ! handofa clock form an angle of
(B) Sikorsky (A) 60 degree {(B) 75 degree
> (C) Cockrell yil, *_ (€) 90 deafee (D) 100 degree
- (D) Drinker .- 3.30 &, ael ot aee o 5 AR e
%mmmmﬁﬁmﬁﬁaﬁm:J '; @ﬁammwmao |
\M} Eal RG] ‘ . (a) 60Tt B). 7sf&=h ¢
N ol -
o (B) Rrreh 46 cofeft (D) 100feh
: (0 Hiht e \ 14. [fin certain language KINDLE is coded
& (D) Fiaﬂ v \ as ELDNIK, how is MASTER caded in
_ o ‘ _ that code‘-‘
10. Arrange . the given \;v'qrqls in ' - e wr 5§ KINDLE =i
S alphabetical order and select the one | ELDNH(%W-E st %"T'm‘ha
that comes first. - IGHISH MASTER %8 wifsd ohdl
Hy ﬁﬁwﬁaﬁaﬁﬁzﬁqﬁm@aﬁ AT
L aﬂtqaﬁan?faﬁwmwail (A) RTEAMS 18/’ RETSAM
5 Acquire, Achieve, Actual, Accumulate, (C) ETRMAS (D) MRETAS
o Acquit ' 15. Find the missing number in given
e u{’g{ Accumulate g % series following the same pattern.
.(B) . Actual _ Wﬂ?ﬁmaqgawmgqtﬂnaq@m
(C)- Acquit W ﬁgﬁa@mﬁml
(D) Achieve t ‘121, 12?12651317 138, 149 162 ?)
A \aé ( LI (a) 172 JBr 179
117 28 119 ?,J (5 WS (c} 198 (D) 210
) U_\) 155 [BJ W 16. A person starts from home and moves
: Z "(C) 168 W\}B)/ 171 G . . towards west by 10 km,‘then tums
right and moves by 6 km, again turns
12, Radha |sS hyam ’s sister. Rita is Shyam's richt and maves by 14 km, again turns
mother.,Anil is Rita’s father. Geeta is left and moves by 4 km’ and at last
.~ Anil's mother. Then how is Radha- :I‘:ms left and moves by 4 km. How far
dto Anil ? : e person is from home position?
LN O NI
-+ . {(B):1Son ' % Mo 2 JA 1ﬁ0 km (D) 14km '
o) (C) ‘Grandson =4 ' 9 E%r; T H T gE 2 3N
ua__K_, V{ff Granddaughter: Ty H@Tgirﬁ?:ﬂ; 10 Tt @ear 8, e
e, v e =e @ 14, wma?rw ( ") e E 3k 14'%'5‘:“ <o 2, P gl
g _"%teaﬁﬂ f’ma:ﬁm%urﬁm it 3 e et wrerar 8, i @ @
2 s PR Hedl 4ﬁ51:ﬂ?:am%3ﬁtamﬁarq
e a'b : Sedr e 1 a8 =it 7
( vt ¥ 6t Rl A Pt e 2 7
(A) 9@ (B) ¥ ] (a) efeht () 4fFf
o (c) (o) Tt ] () 10fmh () 14fFH
g ~ 3 S R
o521 A\ & 'M)f 0 A
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|
17. Akshay, Brijesh, Chetan, Darshan, 19. In how many different ways can the {
Eshan, Freya and Gunjan are seated on letters of the word “LETTER" be 'i
a circular table with faces at each || arranged ? 1
other. Freya is next to the left of | Mg “LETTER” o 313U &t fohar 3tem- '
Chetan and Gunjan is second to the left 1 TS il & sTa R T st HRar g ? |
of Chetan. Akshay is seated third to the | : . _
P left of Eshan. Brijesh is bet.weEﬂ (A) 320 (8) 270 N ﬂb ,y\\\h(?'ﬂ -
Darshan and Eshan. Who is sitting t0 (€ 180 APy 60 - ]
C theimmediate left of Akshay? Hw(: |
(]
(A) Darshan (By” Chetan 20. Find the area of an equilateral triangle gL
(C) Freya (D) Brijesh (in cm?), having side 11 cm.
3, e, Jad, €3, ST, el 3 ,
_ ‘ . Toh |EIg S 1 qahe (at A )
o[ T& geTei 0a U Teh-gait &1 3
AT I N 3a <hifere, foreeht yom 1130 R |
& 06 33 8 | 41, =l & 91 | Il ] - | vk
3 aherom S o s YA 30 I8) 3025 =
TS, Had & 9 8 GER AW | Q\B . 3
Fea, R SR admemwa) (| A5 © 30\3 MO‘ZS\E
El , T FHSTA ST TR |28 S (56 Qﬂ])l
WA B &2 7 21 lfi—':-g=°'—’f§,thenx=?$;w —
(A) g (B) = S oafy il o _°-183ax=?}§_" Y, (1
o) a1 2 ‘ " s .. 188 x ! ik
(C) % (0) T | (A} 0188  (BY 188 \-
18. Choose the Venn diagram which best - |1 ') 188 (D} 188 °
explains relationship among given
items : J: Y, - .
Sim, Moon.dudh !?_'2. Product of two r.[o-pnme nqmbers is :
o , n, Jupiter s, @ 39 221. Their LCM should be , |
- s’it\@??a“ﬁa@ﬁ%a’ﬁm Q) ER-ISE IR F1 PR 221
I A=D1 T AW g 21 ST LCM B =Ry >
T, =, e 1\\ (A) 1 @ 21
( () 13 (D) 17
A) / ' 8
o .. 23. Walking at % of its usual speed, aman’
AB) Q : {+, _is 10 minutes late. Find his usual time
Q O ) “"to cover the journey in minutes., .
/ FArf A i d 2l d e W
@ o wafn 10 e 38 A s 1T
(C) O i | - qu e 3 fere e amr wa e #
@;ﬂd}* | m:ﬁﬁm |
(D) 7 | 60 (D) .80
- \

,1%@@




.24,

Vodul (B)

A book was sold for * 50 with a profit

of 10%. If it was sold for ¥ 45, then

what would have been e,
approximate percentage of profit or'

loss ?

(A} 3%Loss - $©° ﬂ‘,:‘j"
(B) 3% Profit %, Ve |
(C) % Profit i
LDY/);% Loss h U\g‘é
qzﬁﬁsenaai’r 10% %?ﬂtr%sm? 50*2%\h
I AR ] ?ASﬁézntﬂm ElESi
mgﬁmnﬁwwmﬁm 7
(A) 3%EH < &

3% Y |

;- Q) 1%em™

25.

(D): 19 T :
e £ - :
Find the compound interest on ¥ 3,000

at 5% per annum for 2 years

compounded annually.

% 3,000 T 5% wfey =€ i g1 4 zaﬁ%

fere aiftier Tsrghg =t ama HiRvT |

(A) <2502 (2

(B) <350.9 " 5 @f
L€ %3075 ¢ o

(D) 4085

26.

How many natural numbers between

“ 31 and 100 are exactly dlvisible by 3 7

0521

31 37K 100 ¥ e Rt spa FEd 3

g quia: fems @ 7

(A) 30 tB)/ZD :

() 25 (D) 23 ‘
' 69'5

A ,
A |
j .

30.

27. Acanfinishaworkin 10days andBcan

do the same work in 20 days. A and B
worked together for 5 days and then B

left the job. In how many days A zlone
can finish the remaining work ? =

- v
ATEH®H B 10 F AWK swma ¢

A1 B &I M i 20 AT R gwar 3
A 3% BE TE O 5 G 9% = fear
3R i 8 3 =0 B A A sre S
% =l frad AT B g s 2 2
(A) 3/2 (B) 9/2
el 572/ o 7/2

28. What will be weight of the body at

moon, if its weight on earth is 36N ?
(A) Less f_han 36N '
(B) Morethan 36N

(C) 6N

(D) None of these

TSm R s & mxm:nm a?qzaﬁ

TITHTTA36NR ? - -
AR) 36NIFW (B) 36N AR
(C) 6N (D) THIDRTE

29. The correct Sl unit to represent j:he

speed of an object is :

ﬁﬁﬂa@aﬁnﬁrwﬁﬁﬁﬁ‘ﬂﬁ% |

fua@t sizeda

A 7m/s (B)
(C) 7m/s? (D)

7 mp
7s/m

How many colours are there in
rainbow ?

“ﬁﬂgﬂﬁﬁmﬁm‘@lﬁ% ?
) 7

(B8) 8

Q) 6 o

(D) None of these /¥ 9 IS T

A

(



31. Thermal electricity is generated by
using which of these ?
(A) Coalonly
(B) Natural Gas only
(C) Both Coal, Natural Gas
(D) None of these

T} g s =t e R
ST RN AR ?
“A) e RN
e Wi
(C)  =Iae, Neiaes 119 €1
(D) S5 Y P ad

32. The gas usually fI”E‘d in the electric

33.

bulb is

(A) nitrogen

(B}  hydrogen

V[f.’f _carbondiaxide

(D) oxygen

(A)  =TEgiem E
(B) BIEghH

(C) A Srgatioarse

(D) Hiedtem

Which of the gas is not known as
greenhouse gas ?

(A)  Methane
(B} Nitrous oxide
(C) Carbon dioxide
(D) Hydrogen
TR Hrered g % w1 @
A
()
(B) ATSEH Wiwme
Q) T SRR

Jafms@m

ARSI

~*;',36' Where do plants

34,

Ordinary table salt is Sodium chloride.
- What is baking soda ?
J‘P) Sodium bicarbonate

(B) = Potassium carbonate

(C)  Potassium hydroxide
(D) None of these

Wm@%mméléﬁn
QeI =mR ?

(A) @r%mmmaﬁzx
(B) wRRmmwEe

(0) TR RIS
(D) FTHIARETE .

35. Ozone hole refers to
(A)  hole in ozone layer
(B) Increase in the ozone layer in
troposphere .
“(€) decrecase in thickness of ozone
* ' layerin stratosphere’
(D) None of these

(A) aﬁaﬂmﬁ%a
(B) &fmTEw A aﬁ—mmﬁq&

Sy A Hew F 3i w6 mvers
o wheft

. (D) saﬁ%aﬁéaﬁ

receive
nutrients mainly from ?

(A) chlorophyll
(B) soil
(C) light

‘ (D) None of these

ﬁﬁmﬁtﬁ%-&ag@m%mﬁm'

S ?
(A) SEIRITRe

Jm”ﬁfr

]

(D) aqﬁ%zs‘\éqﬁ
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English Language
)

]

"37.” Give the meaning of “To catch'atartar"; 41, Nick travelling the world in
(A) To trap wanted trim'in_al With\, 2008. (begin) .
great difficulty ‘ 0{4!()' began v~

(B} To catch a dangerous person (8) beginning:

1
i inJ
(C) toattack or oppose someone too : (C) will begin~{

strong P (D) should br:gi@r

JB) To deal with a person who is :']

3}

more than one's match 42. My grandfather will come here

|| a week.
" B) with
38. Give the synonym for DILEMMA , (A) Over (B)

(A) Darkness J€f  within (D) On

A ' £ 43. Are ybu attending - _ - reception

(C] = Trap CY v L P today ? , A B
\\ Confusion ' k a) 8 A (BfL £
. e o . (C) the M No artide -
39, Give the antonym for PERFECT =~ - - |
\J/{) Imperfect : a - 44, Ram as well as his brothers ____
(B) Defect * Bl ' comingtoday. ¥

(C} Complete w1} A .are (B) were

, (C) is (D) have been
(D) Ugly w¢

45. He doesn’t need any help from us.

40. Give one word substitute for'— the it should be s going to him for

study of ancient societies

_ help.

JKK History - :‘_ : (A) Otherwise

 (B) Archaeology Wl : «AB) Onthe co‘n_trarvr‘ &
(C) .Anthropology l (@ Thatis |

(D) Etymology - (D) None of these

" 0521




46.

47.

48,

49,

S

fied T

“TRar =1 foredi wrg g |
(A) SR

N

Q) 3F9g

(D) A wrs

Frafate # @ Sir—arve g ama’ ®
ST ?

(A) wfafzr

(B) dramat

(C) Jumsfy

D) U=t

" ———— it .

‘S & e v 2 7

s G

() ¥
© sfa
(D) FHIARR N

mﬁwaﬂﬂﬁﬁfﬁﬁﬁamm
(A) |d + 3reff

\
|
|

(B) | + am=mefi
e T 4 anfi
(D) &I + Iwff

. Tmw R
(a)
__AB)
{C)
(D)

e B
| FeI-EG SRy
TETAT ST

SN

\\\\

N

TET R GE I

1., ‘& R A1 el g9 Feed w1 I

(B) TIEH I wETHl o
€ THTHAEA ~
(D) wft-=fi agen -

\\
..f

52. T=fafen ¥ @ qod v W =W
iR :
(A) @ e
S B SiEER
HCRE WS
T o

54. “Rre o g R @ - sw e wg %
(SRR o N

(A) =it/
NG B L B
(€) Hax «
(D) hiemy.

0521
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cg. Which of the following is an example
of a hybrid computer ?

55. Which of the follow'mg is a word
processor ?

P AT (@ ﬁl@r&x) 27 (A} Athermometer
: \/(p()’ MS Word ‘ ( ﬁ An ATM Machine ~
(B) MS Excel % A notebook 3

(C) MS PowerPoint

(D) None of these /Qﬁ@ﬁé?ﬁ

(D) A speedometer -/

B 7 A T T T RRE S W
(A) TEEfil  (B) TATH. TEH
(€ \rgs (D) wignlex

algonthms can be used in the Time
Sharing Operating Systems ?'

(A) First Come First Serve
(B) ShortestJobFirst X .
\]Xj Round-robin
(D) Noneof these
HTA TS W= oF o e o ]

; - 56.  Which of the following job scheduling

59. The work done in deforming the two
bodies is stored up as

(A) Plastit\:\energy

Mva memwmm , (B) Elasticenergy :
) EEB'HT 3 , ] L JZ]/ Strain energy [ -
3 \ mmﬁmm&ﬁ , (D) Stress energy
(B) ol B S WY ' o Freml 5 fisfms@ o s
(C) LEESRCCl : WA AR e ?
(D) T AR ad _ (A) I St
. o B (B) ER Sl
" 57. This feature of MS Excel allows you to (€) Tapfa st
quickly . fil? cells with repetitive or TR
sequential data such as consecutive (0) T St
- numbers, dates or time, and data in _
. series.. , I 60. Forward motion of the d
MS Excel 5T T8 TI&TVT 31T9eh! caiftd ©9 8 Srivin Tha'h n of the nverwnthout
S, 9T ST Jar | B the belt withit, is called
Hears, qrlE a g i sHis 3 @ (A) Twist 4 Resting
| AR Q) stip (D) Slope
l. ) AutoFill . _ faar Yoz fag s 6 o < wf
| (B) AutoFormat g FTd @
(C) AutoSet ' - (A) ifa‘-r 7(8) fyecif
/N fth AT ; L
(D) . None of these /3T A FIS | © o ) w5
-. 0s21 2 | A
|




61. Centre of pressure is calculated bY
using the

(A}  Principle of load

(8)  Principle of couple

(C)  Principle of moments
%) Principle of pressure

AT 3 g I ST I B
ST @

(A) ww g (8) 3w fiER
(€ onEiwfiEgE (D) @EF e

|
62. Ingiven stress-strain diagram, point ‘A’ |
indicates, \

—— Stress —
m
by
bl

i1l

Q

Strain ——p

(A)  Proportional limit
(B) Elastic limit

(C)  Upper yield point
(D) Lower yield po’mt]

e e, wfomer-fagh ot & fig w0
Eﬁmmi

—

R —

fAI SHECURERS) (®) e sy
G sty (Dmmmqﬁw

.+, 65. In casting, Soli_diﬁcation time is the -

’!
|

63. In modified Vander Waals equation,
(P+ &) (v —b)=RT, the term b
represents

(A) Attraction between moleculesx
U8)

(C) Co-volume

(D) Pressure '

TG 91 STl rer 3

(P+ &) - b) = AT, Fz= bt

Force of cohesion .

(A) 3R S i e
(B} O WSS

(C) Hg-"H=I

(D} TEE

64. : Steam turbine works on which cycle ?
)} Ottocycle (B)

(C) Diesel cycle(D) ™ Joule cycle <

i Zeig TR = T R

(A) INA=FH  (B) tﬁma;ﬁ

(€) dmeias® (D) ;@:ﬁ

Rankine cycle~

functionof - .

(A}  Volume of casting only
(B) Surface area of casting only
_U?f/ Volume and surfar;e area of
casting Corrnl ]
(D) Total surface area only
IR H, witafeRehe o 3o w1
3 e K
(A) TR T
(B) Fad I = wag 8
(C) =i <hl i =i = &
(D) e T TR &

0521




66. In lron-Carbon diagram, maximum
solid solubility of -carbon, at 2
temperature of 727 °Cin alpha ferrite is,
FEH-FH ANE H, HAew Fge &
727 Tl afcoaa & Toe warda 6
Fifreman 39 gomeiiadar 2
(A) 0.77% -('él 2.11%

(C) 0.022% (D) 4.3%

67. Different types of roll passes given

below. Select proper sequence

according to operation from option.

1.  Finishing Passes SR

2. Ereakdown Passes | . _, {1

3. Roughing Passes 2
foiE yovr % Aa ag 4R g e

ﬁmﬁ%m%msﬁamm
"_ . 3 W urg LSO
WoL2,3 s 3;6}5\ "

@ 2,137 Wy 2,31

~ 68. 1A spring of mass (m,) and stiffness (ki
" isfixed atone end and carries mass (m):

at another end. Tha natural frequency
of its longitudinal vibration is equal to
TEAH (m) 3N HSIRET (k) 6 s fEm
s iRt R A R s g R
1 T e (m) SRR | g smiet e
MRl STIRT 36 T @
! _ 1 ’ k .
- (.A} —.-ZT;‘- m*ﬂgs'\ )
gy i E
e 2T M+
© f= |
k ]
_1 K
(D] fﬂ‘z; 3m+—:—:-‘1~
" o521

2. SFTRATNE _ ‘

Haryana was known as

69. in
ancient times.
(A) Bharstversh (B) Brahmavarta
(<) Aksharvarsh (D) ;Varuna
FEOIRTEASAA___ ¥wy
T ST S AT | |
(A) WIEEs  (B) wEEd
b FEEE (D) e

70. Full form of HOAs :

(&) Haryana Qil Association
Haryana Qlympics Association
(@) - Health & Olympics Authority
(D) Haryana Olympics Authority
THAE FH P EA 2
(A) . BTET SEd Wi
(B) Bitwwn ey wdifaum
(C) Tcd s Iidieg Fghd
(D) Efem Al Ead

71. Which scheme is being implemented

to honour the girl child and to ensure

that the girls from poor families and

daughters  of wido'.:\{s/destitute

women, sports women and orphan girl

child, are married gracefully ?

(A) Swadhar Grih Yojana

(B) Mukhyamantri Vivah Shagun
Yojana

Mahila and Bal Suraksha Yojana
Sakhi Yojana

BT HHE F3 31k 7T afEr!

B Tt 3R fruand [ R
RS W e, wide g ok
SO At ) aRa @ wd
AT A gifir w3 R 347 o
A AT Sl 7

X(A) MR g Ji

LA8) T {3 s A

()
(D)

A (C) TS ST GeayT Frr
NO) et ey .



72.  Which script is used to writé Haryanvi
language ? [
(A} - Sanskrit '

“(B)* Hindi
(C)
(D) None of the above

mw%@ﬁ%m?ﬂ%ﬁﬂ
T e ?

(A) dwpa  (8) &
g (D) oires 1 Y = iE Aol

Devanagari
|

i
Haryana Is located'in which part o'.f

Indig-~?
\JX North-Western v

(B)
(C):
{D} South-Western
AT G & e v a2
(A)  SaT-uiEnd

(B) Iul-Ei

() chavi-ggi

(D) eleor-uiE

73.

North-Eastern

South-Eastern

74. Which state lies to the South-West of

Haryana?
(AY
JQ) Rajasthan (D) Uttar Pradesh
2T 3 R -aiH | w U R

N ks i

Gujarat  (B) Punjab

, %? ‘ \\ 1
(A) T | () W& °
(€ TEEE (D) FUTE

75. Who is nicknamed as Haryana
Hurricane ?
(A) Kapil Dev
(B) Nawab Mansoor Ali Khan
| Pataudi '
(C]. Neeraj Chopra
(D) None of the above
Theaon & 3 39 & el ST S
27 7
() wiEd
\B) T T a7t @H TG
V.o (0) iRE =
(D) I90E H | B TG
76. Which of the following state the in
' country is first to implement the
\ ‘Distress Ration Token Scheme’ under
- the Aatma-Nirbhar Bharat Initiative ?
(A) Haryana (8) Rajasthan
1C) Uttaf Pradesh (D) Bihar
fritifaa 1 & B T T IHAH

T gEe % qEd e Tvd IR
FrAT T\ T el Tee TSI & ?
(A) e e TR
(@ wwmwy (0) F=R
'77. Which of the following district has 2
modern hi-tech agricultural mall ?
(p) Fatehabad (B} Rewari
(C) Mléhendragarh (D) Rohtak
Srfad 12 Rrm Rrdt 7 sufi 8-
I FMATA R ?
(A)  EEE  (8) (@S
(C) TERS e AeTH

12 . o521




HSDC has a Seed Testing lab at -
for testing seed samples to measure
quality.

(A} Umri  (B) Hunda
' (C) Hatni (D) None of the above

- Tt AreA o T s % et o ol
% fae HsDC 6 1w die
gheror TR B |

K o (B) T

(O ®h (D) :;qﬂ?sni:‘{aﬁéqgi

78.

~79. Indo-Dutch project was launched in

Haryana in collaboration with which
country ?

“ (A)  Spain (B) Japan
(€} Portugal (D) Netherlands
Co C Se-s9 Uit giEmn § fee 2w %
TR A IE R TS R ?
(A), &= (B)

O T (D)

Modawala Mandir situated in the

district of Mahendergarh is dedicated
to which God ? Y

(A) Lord Brahma (B) Lord Shiva

(C) Lord Krishna (D) Lord Vishnu
newTe o # fRua Hiemaren e fra
YEE R EaEa g v

(A) waEsEn \(8f wemfm

(€) WERFW (D) wrar sy

EILIES
Hieweis

80.

81." Where is the temple of Balram, the

- -elder brother of lord Krishna located in
Haryana ?

- Palwa)

(C) Kurukshetra (D) Panipat

WA P H 93 W T 1 H
BTN ¥ gl fRa g 2

(A) Yoiad (B) Ay

(B) Raithal |

(© TEE= (0) arfiwa

|
0521

82.

Sheetla Mata Mandir
Gurugram is dedicated to

(A) Wife of Lord Shiva
(8) Wife of Pandvas
(C) Wife of Guru Dronacharya
(D) Wife of Lord Krishna
W@asﬁmmﬁﬁm@t;{qﬁa
27
(A), WERTREHR T
B) . TISdl <ht Ul i
ey TESomEr 6 ael
(D) ST 00 <hl Tl

located at

On Republié‘day of 2021, where was
the flag hoisted by Haryana sCM?

(A) lind

{B) Panchkula :
(C) Gurugram ;
(D) None of the above
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Who was the first Chief Justice of

Punjab and Haryana High Court after'
independence ?

(A)  SodhiRanjan Das
(B) Eric Weston _
()  Amar Nath Bhandari
(D)  Ram Lal ; :
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According 10 Economi® health
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21, how many commi®
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Centres are there it Ha“m
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(8) 100

oy 133

{A) 70
(C) 110
de
Which spomperaon has been ma
brand ambasssdor of the scheme ‘Beti
?
Bachao =nd Beti Padhad’ in Haryana ¢

A} sakshi Malik

{B) Vinash Phogat
{C) DzepaMelik

' (D} None of the above
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Block Development and Panchayat

Officar is selected for whic

h ti
Panchayat ? ler of

(A)  District Leye| - .-

\£8)  Block Level

(C) Village Leve

(D) None of the aboye
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. - Which of following dlstrm:t Qf HaTVana

has the hnghest Male- Female Sex fatio
as per census 20117
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(A)  Nuh . (B} ‘,GUFUgram
_‘il‘- (C) - Ambala : (D) ; Kurukshetra |
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The Shwallk hI“S are not found in

. which of the fo\lowung dlstnct? N
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(A) :Ambala (B )—‘_-_Panchkula

Yamunanagar
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’Bal Udaan a.i wmner c:f Han,rana
‘Sahitya  Akademi Shrestha Kriti
Awards Story Awards and Manuscnpt

;v Grants for 2020.in: Hmdl and Haryanvi

i languages written by -.-,¢

(A) - Mahendra Singh Sagar
L. {B) Baljlt Smgh
-(C)-  Dr. Ashok Kumar
(D) Vijay VIbhOI’ -
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